Inst. of inv. N

B3am. nus. Ne

Signature and date

Moanuck n pata

Inv. N of orign.

WHB. Ne noan.

Sc/M15

Ground level mark

PILLAR FOR PAGA (TYPE I)
OMOPA FTPOMKOIOBOPSLLEW CBA3W (TWM 1)

FRONT VIEW Sc 1:20
BWO CMNEPEON M 1:20

+3,000m

+0,200m
0,000m

OTtmeTKa
YPOBHS 3eMnn

N

-0,600m

SIDE VIEW Sc 1:20

B CBOKY M 1:20

+3,000m
A
1 Tﬁg
1
+2,500m
1\1 77770
15, 14

+1,500m

14
ﬁx_‘
13 o
+0,200m F'/_
Ground level mark 18
OTmeTKa
ypOBHﬂ 3eMJn
8
I
i 16
: 10
é/ 16 -0,600m
1

TOP VIEW Sc 1:20
B CBEPXY M 1:20

13

11 &

13 e
16 1

PILLAR FOR PAGA (TYPE Il)
OMOPA TPOMKOIOBOPSALLE CBA3W (TWM 1)

FRONT VIEW Sc 1:20
BWI CMEPEOM M 1:20

SIDE VIEW Sc 1:20

B/O CBOKY M 1:20

+3,000m +3,000m
1 17| 9
- 1
+2,500m < 1 +2,500m
14 15 15
12 1 3 12
+1,500m
15,
14
15 ﬁ\_ﬁ
“I( 13 ;/i
+0,200m g +0,200m i g
Ground level mark| ’i 0 Ground level mark| o1 8
AL .L*‘._.-i ) AL
8
8 T 16,
10 - 10
-0,600m \H 1 16 -0,600m
4 e A

TOP VIEW Sc 1:20
BWO CBEPXY M 1:20

bl g

=

13
2
i
1

GENERAL VIEW Sc 1:20
OBLLW BUA M 1:20

11
X
9
) 1
3 |88 e,
_\H‘T ?rf‘” J
L
15 14
A

GENERAL VIEW Sc 1:20
OBLLMY BMA M 1:20

FRONT VIEW Sc 1:10

FOUNDATION
®YHOAMEHT

SIDE VIEW Sc 1:10 REINFORCING SCHEME

BW/O CMNEPEOV M 1:10 BWO CBOKY M 1:10 CXEMA APMNPOBAHUA
+0,200m +0,200m
18 18 18
0,000m 0,000m 20 20
Ground level mark| Ground level markl = —=—
OTtmeTka OTtmeTKa
YPOBHSI 3eMnu YPOBHS 3eMn
o
Te)
—
o o
8 8 17
-0,600m -0,600m e
—
200 200 200

TOP VIEW Sc 1:10
BWO CBEPXY M 1:10

200

200

FRAME KP1
KAPKAC KP1

GENERAL VIEW (Frame KP1)
OBLLW BUL (Kapkac KP1)

19—

(,_
o!

SPECIFICATION OF MONOLITHIC FOUNDATION ELEMENTS
CNeEUnonNKALMNA SNIEMEHTOB ®YHOAMEHTA

SPECIFICATION OF PILLAR FOR PAGA (TYPE I)

CMELIMOUKALINA HA OMOPY MrPOMKOIOBOPALLEA CBA3W (TN 1)
Item Designation Description Quant Given in 1 pcs.
Mos. O603HaueHne HaumeHoBaHue K'f"fy JanHbie 1 wr.
on.
Horn loudspeaker, all-weather, pcs
1 BSGPLB-E-TE-DS-2400-004 | Bcenoroanbiii pynopHbiii rpoMKOroBOpUTEnb, LT 1 4 kg./xr.
> Junction box with 10 terminals, IP66, glass-reinforced plastic, pcs 1 2 Kka./
PacnpenenvTensHas kopobika ¢ 10 knemmamw, P66, CTexnonnacTvk, wr g./Kr.
Cable gland M32x1.5, IP68, brass, pcs
3 KabenbHbin ynnotHutens M32x1.5, IP68, naTyHb, WT 3 0.2 kg./kr.
Cable gland PG 29, IP55, brass, pcs
4 KabenbHbin ynnotHutens PG 29, IP55, natyHsb, wr 1 0.2 kg./kr.
5 GOST 8957-75 Sleeve transition 50x32, pcs 1 05 ka./
OCT 8957-75 MydTa nepexogHas 50x32, wr - Kg./Kr.
5 DIN 933; GOST 7805, 7798 | Bolt M4x20 with nut M4 (DIN 555,GOST 5915-70), pcs 5 0.011 ka./
DIN 933: FOCT 7805, 7798 | Bont M4x20 c raiikoit M4 (DIN 555, FTOCT 5915-70), wr : g.JKr.
Grounding wire I1-350, pcs
7 TY 36-1276-85 MpoBoAHUK 3a3emnsioLii M-350, Wt 1 | 0.026 kg./kr.
Two-armed brackets Dint.=38-40mm, metal, pcs
8 TY 36-1448-82 Ckoba asyxnankosasi DBH=38-40mMM, MeTannuuyeckas, Wt 2 0.015 kg./kr.
GOST 3262-75 Steel pipe Dint.=90mm, Dext.=101.3mm, m
9 FOCT 3262-75 CranbHasa Tpy6a DBH=90mm, DHap=101.3mMM, M 2,8 | 26.88 kg./kr.
10 GOST 3262-75 Steel pipe Dint.=25mm, Dext.=33.5mm, L=1.0m, pcs 1 239 ka./
rOCT 3262-75 CrankHas Tpy6a DeH=25mm, DHap=33.5Mm, L=1.0m, wr -39 KG./KT.
GOST 103-76 Rolled steel plate 105x105x4mm, pcs
11 FOCT 103-76 Crtanb npokaTHasi 105x105x4MM, LT 1 0.35 kg./kr.
12 GOST 103-76 Rolled steel plate 200x200x4mm (for junction box), pcs 1 1.256 ka./
FOCT 103-76 Cranb npokatHasi 200x200x4MM (onst pacnpes. kopoGki), wT ' g./Kr.
GOST 103-76 Gusset plate 45x150x4mm, pcs
13 rOCT 103-76 KocbiHka 45x150x4MM, LT 4 0.11 kg./kr.
P3-Ll-T-22 Metall hose Dint.=22mm, m
14 TY YS020|1l248,001-99 MeTannopykas DBH=22mm, M 2.5 0.44 kg./xr.
15 Cable clamp of stainless steel L=500mm, h=13mm, pcs 4 0.1 ka./
KabenbHblit XOMyT U3 Hepxkagelowuei crani L=500mm, h=13mm, wr ~L KQ./KT.
16 Foundation*
dyHOaMEHT*
* See - Specification of monolithic foundation elements
* Cm. - Cneundomkaunio anemeHToB oyHAameHTa
SPECIFICATION OF PILLAR FOR PAGA (TYPE II)
CMELMNDUKALINA HA OMNMOPY MPOMKOIOBOPSALLEN CBA3W (TUMM 1)
Item Designation Description Quant Given in 1 pcs.
Mos. O60o3HaveHne HaumeHosaHve K'f"fy JanHbie 1 wr.
on.
Horn loudspeaker, all-weather, pcs
1 BSGPLB-E-TE-DS-2400-004 BcenoroaHbivi pynopHbIi F(POMKOrOBOPUTENb, LUT 1 4 kg./xr.
5 Junction box with 10 terminals, IP66, glass-reinforced plastic, pcs 1 2 Ka./
PacnpenenutenbHas kopobka ¢ 10 knemmamy, IP66, cTeknonnactuk, Lt g.JKr.
Cable gland M32x1.5, IP68, brass, pcs
3 KabenbHbin ynnotHutens M32x1.5, IP68, naTyHb, WT 4 0.2 kg./kr.
Cable gland PG 29, IP55, brass, pcs
4 KabenbHbi ynnotHutens PG 29, IP55, natyHb, WwT 2 0.2 kg./kr.
5 GOST 8957-75 Sleeve transition 50x32, pcs 2 05 ka./
FOCT 8957-75 MydTa nepexoaHas 50x32, wt -2 Kg./KrT.
5 DIN 933; GOST 7805, 7798 | Bolt M4x20 with nut M4 (DIN 555,GOST 5915-70), pcs 3 0.011 ka./
DIN 933: FOCT 7805, 7798 | Bont M4x20 c raiikoit M4 (DIN 555, FTOCT 5915-70), wr : g.JKr.
Grounding wire IM-350, pcs
7 TY 36-1276-85 MpoBoAHUK 3a3emnsitoLii M-350, Wt 2 | 0.026 kg./kr.
Two-armed brackets Dint.=38-40mm, metal, pcs
8 TY 36-1448-82 Cxoba agyxnankosas Der=38-40mm, metannuieckas, wr| 4 | 0-015 kg./kr.
GOST 3262-75 Steel pipe Dint.=90mm, Dext.=101.3mm, m
9 FOCT 3262-75 CranbHas Tpy6a DBH=90mm, DHap=101.3mMM, M 2,8 | 26.88 kg./kr.
10 GOST 3262-75 Steel pipe Dint.=25mm, Dext.=33.5mm, L=1.0m, pcs 2 239 ka./
FOCT 3262-75 CranbHas Tpy6a DBH=25mm, DHap=33.5Mm, L=1.0Mm, wT : g-/Kr.
GOST 103-76 Rolled steel plate 105x105x4mm, pcs
11 FOCT 103-76 Crtanb npokatHasa 105x105x4mm, wT 1 0.35 kg./kr.
GOST 103-76 Rolled steel plate 200x200x4mm (for junction box), pcs
12 FOCT 103-76 Cranb npokatHas 200x200x4mm (st pacnpeg. kopobkw), wr | L | 1-256 kg./kr.
GOST 103-76 Gusset plate 45x150x4mm, pcs
13 FOCT 103-76 KocbiHka 45x150x4MM, LT 4 0.11 kg./kr.
P3-Ll-T-22 Metall hose Dint.=22mm, m
14 TY ¥30201248.001-99 MeTannopykas DBH=22mm, M 4 0.44 kg./xr.
15 Cable clamp of stainless steel L=500mm, h=13mm, pcs 4 0.1 ka./
KabenbHblii XoMyT 13 HepxkasetoLueii cranu L=500mm, h=13mm, wr -+ KG./Kr.
16 Foundation*
dyHOaMEHT*

Iltem
Mos.

Designation
O6o03HaueHne

Description
HaunmeHoBaHme

Quan
tity

Kon.

Given in 1 pcs.
HaHHble 1 wr.

Reinforcing products / ApmaTypHble nsgenvs

17

KP1

Frame, pcs
Kapkac, wrt

6.82 kg./kr.

Details / [letanu

18

GOST 103-76
OCT 103-76

Rolled steel plate 200x200x10mm, pcs

Crtanb npokatHas 200x200x10Mm

, Wt

3.14 kg./kr.

19

GOST 5781-82*
OCT 5781-82*

Armature @12Alll, [=770mm, pcs
Apwmatypa J12Alll, I=770mm, wT

0.68 kg./«kr.

20

GOST 5781-82*
FOCT 5781-82*

Armature @6Al, I=180mm, pcs
Apmartypa J6Al, [=180mm, wT

24

0.04 kg./xr.

Materials / Matepu

anbl

21

Concrete class B25; F150; W6, m
BeTtoH knacca B25; F150; W6, m?

3
0.035

Note:
MpumedvaHue:

1.
1.

o

NN

Steel pipe (item 9) and gusset plates (item 13) weldin to steel plate of foundation by welding machines as per GOST 19292-73.

CranbHyto TpyOy (no3. 9) 1 KOCbIHKM (M03. 13) NpuBapuTh K CTanbHOMK NnacTMHe byHaaMeHTa CBapoOYHbIM aBTOMATOM B

cootBetcTBUM ¢ TOCT 19292-73.

Frame KR1 (item 17) and separate details (item 18,19,20) shall be connected by contact spot electric welding into spatial frame.

NPOCTPaHCTBEHHbIV KapKac.
Welding joint height shall be accepted as equal to the smallest thickness of welding elements.
BbICOTY CBapHbIX LLUBOB NPUHATb PaBHbIM HaVMEHbLLEN TOMLIMHE CBapMBaeMbIX 31IEMEHTOB.

All metal elements areis to be painted by enamel NMd115 according to GOST 6465-76* for two times on primer paint

®-021 according to GOST 25129-82*.
. Bce metannuueckue anemeHTbl okpacuTb amanbto MNdP115 no FTOCT 6465-76* 3a agBa pasa no rpyHToBke [®-021 no FOCT

25129-82*.

. Kapkac KP1 (nos. 17) n otaenbHble getanu (nos. 18,19,20) coeanHNTb KOHTAKTHOM TOMEYHON 3NeKTPOCBapKon B

External surfaces of reinforced concrete structures contacting with soil and on height 200 mm higher ground elevation shall be
coated with hot bitumen BH 90/10 as per GOST 6617-76 with two layers over primer (bitumen mixed with 40% of benzine).
HapyxHble NoBepXHOCTH ene306eTOHHLIX KOHCTPYKLMIA, CONpUKacaloLwmecs C rpyHTOM U Ha BbICOTY 200MM BhiLLe OTM. 3eMIu,
obma3artb ropsiunm 6utymom mapkv BH 90/10, TOCT 6617-76 3a 2 pa3a no rpyHToBKe (6UTyM pa3seaeHHbIi B 40% 6eHauHa).
Loudspeaker (item 1) clips to the support (item 9) using the bolts which come in the loudspeaker supply set.
"pomkorosopuTtens (No3. 1) kpenutca k cTorike (No3. 9) npu noMoLuy 60NTOB BXOAALLMUX B KOMMMEKT NOCTaBKN
rPOMKOrOBOPUTENSI.
The position and direction of the outdoor cables refer on-site utilities
Mo3nuusi n HanpaeBneHus HapyXHbIX kabenen ykazaHbl BO BHYTPUMNIIOLLAA0YHbIX CETSX.
The pillar (steel pipe) shall be grounded respectively, the grounding flat steel shall be connected to column foundation and
refer document BSGPLB-E-EL-DW-2102-004 - Grounding and lightning layout.
Croiika (cTanbHas Tpyba) gomkHa OblTb HAAEXHO 3a3eMrieHa, CTarnb NoNocoBas AN 3a3eMieHnsa CoOeanHAETCS C
dyHAAMEHTOM KOMOHHbI 1 yyTeHa B gokymeHTe BSGPLB-E-EL-DW-2102-004 - NMnaH 3a3eMneHnsa n MOfTHMe3aLymTbl.
The unit of dimension in this drawings is in millimeters (mm) if no particular annotation.
EovHuua nsmepeHunst pasmepoB Ha AaHHbIX YepTexax onpegeneHa B MunnumeTpax (Mm).

* See - Specification of monolithic foundation elements
* Cm. - Cneundomkaunio anemeHToB oyHAaMeHTa

Status / CocTtosiHue

|IRev./Pesuana| Date/data

Remark / MNpumeyvaHne

OWNER:
3AKA3YVIK:

CONTRACTOR:
noaPAOYNK:

PROJECT:

MPOEKT:

PAS/TTC

ENGR. MGR.

DOC. VERIFICATION

Installation drawing for horn loudspeaker, all-weather
vn MOHTaXHbIN YepTexX Ha BCEMNOTroAHbIN PYMNOPHbI

TIOK. KOHTPOITb rPOMKOrOBOpUTESb

CHECKED SCALE: SIZE: Al
NPOBEPUN MACLUTAB: ®OPMAT:

PREPARED CONTRACT No.: PAGE: 1/1 STAGE: DETAIL DESIGN
BbIMOJTHUTb KOHTPAKT No.: JNCT: CTAOUA: PaGouast nokymeHTauus

POSITION NAME SIGNATURE DATE

no3nuus VMt noAnNuchL OATA DWG.NO.:




